I
CHANTO

 hasIE
AQZBIFHBIR

275 BBEA

kRS

TR 5 (5 1l R IR BE T
SR - BEK -

KRR AT RHINAE - = :
BRI RISRER - S & 2 mE

a2 h =1

IE SR R IR E
ERBERRE -

@f/ EaeEE

LS #& @ mE RIEZEXAE
IRASEBESHE - FEMNEEH - FRAEAXKES

ZR%EBINGE - RIENEFREE — RKE - ExXEER -
AHiE -

—_— = = FRERTEN 0 FTEHS -— e— e

AR E R - AR E A M EEEE - HERLT
£ AR D O nmms 5 BERERRD WEEE - REEA
/“ t_/ /

3 09.01



%, B L / B B B & R L

AQ2 & 5l

ISO CYLINDER (ISO 6431, VDMA24562)

1. TEISORBIEFSRFEER

2. EERE - BRES

3. MREHEATNBBRLRIE  LRE[SHEE -
4. RASHRERGESE - ME - Mk - XAER -
5. RABRER BB B - #& BERIFEIMFE -

{EENZ TN 1R EERER (SRR
EL1E @32, @40, @50, @63, @80, @100, 3125
ERReE TR

fi$ B 7] 1.5MPa (15kgf/cm?)

EFRRE 0.07 ~ 0.97MPa (0.7 ~ 9.9kgf/cm?)
FERRE 50~500 mm/sec

ERRE -10°C~ +70°C(REI 45 7K R BE)

1B & i O 58 42 12

fasl TEE

R

AQ2W

Rk

AQ2H

(B

[25~1000mm| L% Emm
@40 ; e 1] 18
@50 = 2| 21@&
263 A | 1R “ TE-Z73047
280 BE= é
@100 Fe | <% “ EXFE2S B 22

S AREA S
@125 Y B TA(ISOR) Em’?‘ X;44.01 .
VI 3 CA

Y REE

afl

CB

LR g

P

P BUEER ﬁ

cBB

?ﬁ%ﬂﬂ?‘

% CBBEMENMRHIIED125-

'3 09.02



75

100

125|150 (175

200

250300

350

400

450

500 550

600

650

700 800

850

(mm)

950 (1000

o000

o000
o000 0C

J

GERR

wiR| = B 7 B £ 13
o Al &= RIS RRE 1 EEIS
e & = | SSSERRE 1 @32 | COR12 | APP32 sM28 DF16
© \ﬂ = ﬁmﬁﬁmﬁﬁﬁpﬁ@ﬁﬁ L @40 | COR16 | AGP40 SM36 DF20
0| === iR TS EE 1
5} = 5= e 1 250 COR20 AGP50 SM46 DF25
0 | s=ms NBRIIZIE 1 263 COR20 AGPB3 AS140 DF25
@ | = NBREJ#ZE 2 @80 COR25 AGP80 G75 DF30
(8] LIPS e h=rES 1 @100 | COR25 | AGP100 G95 DF30
© | @ B IHEE R 1 @125 | DRP35 | AGP125 G120 DF50
1] TEEIR tee 3 2
® T IS POM 1
B nrEmaE NBR 2
® EEE NBR 1

'3 09.03



%, B L / B B B &y R L

ISO CYLINDER (ISO 6431, VDMA24562)

AQ2 R 5l

ZX+1712

PL

WA SwW L2 PL 2-EE
- =\ | -

)

\Uhs
i
il

e

4-RT KK / L12 L9

OE VD| BG
AM WH L8+1712 VA
7Z+17%2

O
)

flf€ |AM|eB [BG|eD| E | EE | G KK L2 | L8 | L9 L12|PL | R RT |SW|VA| VD WAWH|2zZX |Z2zZ

#3222 30112 |12 |47 |G1/8"| 26 |M10X1.25| 16 |94 | 3 6 | 10 325 M6X10 |10 | 4 | 7 |4.5|/26 |120|146
J40 |24 |35 125 16 |53 |G1/4"| 30 [M12X1.25| 20 |105| 3 8 15138 | M6X10|13 |5 | 9 4 130 (135|164
@50 | 32|40 135/ 20 |65 |G1/4"| 30 | M16X1.5 | 25 |108| 4 8 | 15 465/M8X125/17 |5 | 11| 4 |37 (143|180
63|32 |45 1135/ 20|75 |G3/8"| 32 | M1B6X1.5 | 25 [121| 4 8 |16 B565/M8X125/17 |5 |13 | 7 137 1158195
@80 |40 | 451|175/ 25|95 |G3/8"| 38| M20X1.5 |32 |128| 4 | 10|19 |72 [M10X15|22 | 4 |15 | 7 |46 |[174|218
@100| 40 |55 17.5 25 115/G1/2"| 40 | M20X1.5 |34.5(138| 4 | 10 [19.75| 89 |[M10X15| 22| 6 | 16 | 7 |51 /189|235
@125/54 |60 | 15 | 35 |140|G1/2"| 40 | M27X2.0 | 40 |160| - 15 1 16 |110 |M12X1.75| 32 | 8 - - |B5 |[225|287
O EmEmrEs)z AW [ X[

KK i i i i KK

/o iy
Siss NEE

WH LB8+1718 WH+{T#2
AM | ZA+21712 | AM
ZY+21718

KL AM KK L8 WH ZA VA ¢
@32 22 M10X1.25 94 26 146 190
@40 24 M12X1.25 105 30 185 213
@50 32 M16X1.5 106 37 180 244
263 32 M18BX1.5 121 37 195 259
@80 40 M20X1.5 128 46 220 300
@100 40 M20X1.5 138 51 240 320
@125 54 M27X2.0 160 65 290 398

'3 09.04



VA

CHIANTO

SR =)

) BIZER (LB)

XA+1T12
, |
s Iz |
G- W
wize e
%/ = Y|
2 I : oAl
& o '::l - E
i T F SA+{TEE ‘
TR 1AO B +i788 1AQ 1
E1
HIS oAB AH %) AT E1 SA TR XA
232 7 32 11 4 47 142 32 144
240 9 36 8 4 53 161 36 163
@50 9 45 15 5 65 170 45 175
263 9 50 13 5 75 185 50 190
@80 12 63 14 6 95 210 63 215
2100 14 71 16 6 115 220 75 230
2125 16 90 25 8 140 250 90 270
) RiZR#ER (FA)
Tz A A (]
s@le oy W
1 ik Ll
I 1 an e IR T I I S J
\@ G & Qi ] 7
TF 4-gFB W ME|_
UF 4 X+ 1712
\
B E2 FB MF R TF UF w ZX
232 47 7 10 32 64 79 16 120
@40 56 9 10 36 72 90 20 135
@50 65 9 12 45 90 110 25 143
263 80 9 12 50 100 120 25 158
@80 96 12 16 63 126 154 30 174
@100 120 14 16 75 150 178 35 189
2125 140 16 20 a0 180 220 45 225

'3 09.05



%, B L / B B B & R L

AQ2 % 5l
ISO CYLINDER (ISO 6431, VDMA24562)

SR =)

44 = Ht
J LRk (FB) ; 1 ; ; 1 TP T | @%N
==r 8l (—k()m
f T O
_MF_ 4-FB TF
‘ ZF+1718
s E2 FB MF =] TF UF ZF
@32 47 7 10 32 B84 79 130
@40 56 9 10 36 72 Els) 145
@50 B5 9 12 45 90 110 155
@63 80 9 12 50 100 120 170
@80 96 12 16 63 126 154 190
@100 120 14 186 75 150 178 205
@125 140 16 20 a0 180 220 245
W EBLF(CA) e
— - g T
== ) B
— N PR
i 7& B i i
1 FL |MR EW
XD+1712 E1
KEY sCD OE1 EW FL MR 0TG1 XD
@32 10 46.5 26 22 10 32.5 142
@40 12 53 o8 25 12 38 160
@50 12 65 32 27 12 46.5 170
@63 16 75 40 32 16 56.5 190
@80 18 94 50 36 17 72 210
@100 20 114 80 41 20 89 230
3125 25 139 70 50 25 110 275
CB
- | CD | |
O ZLF(CB) o : g - @B
EH@ (D R C)
[ | L
| FL MR uB
XD+1T712 OJE2
FKE CB aCD OE2 FL MR O0TG1 uB XD
@32 26 10 47 22 10 32.5 45 142
@40 o8 12 53 25 11 38 52 160
@50 32 12 65 27 12 46.7 60 170
@63 40 18 75 32 18 56.5 70 190
@80 50 18 94 36 17 72 90 210
@100 80 20 114 41 21 89 110 230
@125 70 25 139 50 25 110 130 275




I~

CHIANTO

GiFpRv=)

) EEMIEERZ(CBB)

V
A & &
P 4 E}{ \V N
‘ DB ‘
CF
| |
KK CA cB cC 2CD CE CF CG Vv oP
@32 18 38 32 10 32 54 21 26 @6.5i&31,310.54F1, 181
@40 22 41 36 12 38 57 24 28 @6.5#830, 31 115451, 574
@50 30 50 45 12 50 70 33 32 @6.5583,, @1 4%E1T, =4
263 35 a2 a0 16 55 72 37 40 @983, @141k, R4
@80 40 66 63 16 B4 90 47 50 113830, @1 741,88
@100 50 76 71 20 74 100 55 B0 @115830, @184, %8

'3 09.07



ISO CYLINDER (ISO 6431, VDMA24562)

ISEEN
O YEUIEGE(YI) G
1ISO8140 5
DIN71752 ’———‘

@32 20 10 20 40 M10X1.25 10 20 20 52 18
@40 24 12 24 48 M12X1.25 12 24 24 62 20
@50 ~ @63 32 16 32 64 M16X1.5 16 32 32 83 26
@80 ~ @100 40 20 40 80 M20X1.5 20 40 40 105 34
125 56 30 54 110 M27X2.0 30 55 55 148 48
) PRUIETE(P) oM
DING648 c CD
DIN24335 - _
_ [any
B - Y &J
N .
NI
‘= H o4
§§ §§ © e X
N | N .
NN o (DK
gBD
il 1% A|C| E |G J \Y/] Q X |(eBD| CE |[eCK| gCL|CM | CD | ER | LE

@32 21111/19.1|6.5| 56 M10X1.25|12.9| 17 | 19 | 43 | 10 | 15 | 14 | 26 | 13 | 22
40 24 112 |22.2/6.5| 65 M12X1.25|15.4| 19 | 22 | 50 | 12 |17.5] 16 | 30 | 16 | 26
@50 ~ @63 | 33 |15|28.5| 8 | 83 | M16X1.5 |19.4| 22 | 27 | 64 | 16 | 22 | 21 | 38 | 19 | 31
@80~ @100 | 40 |18/34.9/ 10 | 100 | M20X1.5 |24.4| 32 | 37 | 77 | 20 |27.5| 25 | 46 | 23 | 37
3125 53 |26|47.6| 15 143.5| M27X2.0 1323 | 41 | 50 110 30 | 40 | 35 | 67 133.5| 54

'3 09.08




®BE /BERFE R (190 EE)

AQ2 % 5l
ISO CYLINDER (ISO 6431,VDMA24562)

GiPR1=)

) YEUEETE(Y)

’<C_l\/|> #CK H9

d

LE

CE

M 2BD

232 20 {15} 52 | M10X1.25 | 40 10 19 10 18 12 26 20

40 24 15 B0 | M12X1.25 | 48 12 24 12 22 12 32 24
@50 ~ J63 | 32 18 83 M16X1.5 64 16 32 16 28 18 40.5 32
@80~ @100 | 40 20 99 M20X1.5 80 20 38 20 37 19 46 40

3125 32 15 98 M27X2.0 72 24 50 24 42 26 58 40

'3 09.09





